Program Items highlighted in yellow are new program fees Items highlighted in blue are fee changes to existing programs / rentals		Resident		Non-resident	Deposits*
program fees Items highlighted in blue are fee changes					Deposits
Senior Memberships (age 55+)***	\$	-	\$	25.00	
Adult Membership (age 18-54)***	\$	95.00	\$	145.00	
Youth Membership (age 10-17)***	\$	65.00	\$	97.50	
Child Membership (age 3-9)***	\$	45.00	\$	67.50	
2 and Under		\$0		\$0	
*** Membership Discounts for active Military and Veterans and immediate family members		25% Discount		25% Discount	
HHP Drop in Rate 3-9	\$	3.00	\$	5.00	
HHP Drop in Rate 10-Adult	\$	5.00	\$	8.00	
Fitness Class (All fitness classes)		\$8/per class		\$12/per class	
5 Class Fitness Punch Card	\$	35.00	\$	55.00	
10 class Fitness Punch Card	\$	60.00	\$	90.00	
15 class Fitness Punch Card	\$	75.00	\$	115.00	
Senior Ceramics Class	<u>_</u>	\$0	\$	35.00	
Ballroom Dance Annual Pass	\$	25.00	\$	37.50	
Ballroom Dance drop-in class	\$	3.00	\$	5.00	
Youth programming classes	\$	25.00	\$	37.50	
Adaptive Recreation Annual Pass	\$	25.00	\$	37.50	
Adapative Recreation drop-in	\$	1.00	\$	2.50	
Holiday Camps	<u>م</u>	\$25/day	<u>۴</u>	\$37.50/day	
Spring Break Camp	\$ \$	125.00	\$ \$	187.50	
Homeschool PE classes		50.00	\$ \$	75.00	
Youth Floorball	\$ \$	65.00	\$ \$	97.50	
Adult Floorball	Ф	45.00	Φ	65.00	
Adult Basketball Leagues Adult Volleyball Leagues		\$330/per team \$280/per team		\$495/per team \$420/per team	

Youth Program Classes	\$	25.00	\$	37.50		
Half-Gym Rental-per hour	\$	50.00	\$	75.00	\$	50
Full Gym Rental-per hour*	\$	100.00	\$	150.00	\$	100
Both Gyms-per hour*	\$	200.00	\$	300.00	\$	100
Multi-Room w/kitchen-per hour	\$	75.00	\$	112.50	\$	100.00
Multi-Room w/o kitchen-per hr.	\$	55.00	\$	82.50	\$	100.00
Portable Stage Rental - per event	\$	50.00	\$	75.00		
Stage-per hour	\$	50.00	\$	75.00		
After Hour Rentals additional cost		\$20/hr		\$30/hr		
Table Cloths-per table	\$	8.00	\$	12.00		
Dance Floor (Ballroom) -per event	\$	120.00	\$	180.00		
Meeting Rm Screen / projector - per meeting	\$	15.00	\$	22.50		
PA System-per event	\$	100.00	\$	150.00		
Podium-per event	\$	25.00	\$	37.50		
Swimming-Pool Passes (HHP+WP)	\$	25.00	\$	37.50		
Hometown Heroes Park Pool Pavilion		\$25 per 2 hr	\$50 per 2 hour			\$100
Hometown Heroes Park Pool	\$1	50/2 hrs	\$225/2 hrs		\$	100.00
Fast Track Rental (requires 1 additional						
lifeguard)	\$	60.00	\$	90.00		\$0
Adult/Youth Basketball Tournament		\$125/per team		\$187.50/per team		
Adult/Youth Volleyball Tournament		\$100/per team		\$150/per team		
Pickleball Tournament	\$	10.00	\$	15.00		
Breakfast with Santa	\$	10.00	\$	15.00		
Fees for Existing Programs as of 10/15/16						
Program		Resident	Non-resident		resident Depos	
Soccer-Spring	\$	75.00	\$	112.50		
Soccer-Fall	\$	75.00	\$	112.50		
Basketball-Summer	\$	75.00	\$	112.50		
Basketball-Winter	\$	95.00	\$	142.50		
Summer Camp	\$	235.00	\$	352.50	\$	50
Valentine's Dance-per couple	\$	55.00	\$	82.50		
Mother / Son Dance	\$	55.00	\$	82.50		

Fall ASA Softball	\$ 65	.00	\$	97.50			
Spring ASA Softball	\$ 85	.00	\$1	27.50			
Sand Volleyball	\$ 50	.00	\$	75.00			
Indoor Volleyball	\$ 65	.00	\$	97.50			
Youth Flag Football	\$ 65	.00	\$	97.50			
Adult Flag Football	\$280/te	eam	\$42	0/team			
Adult Volleyball (teams)	\$45/te	eam	\$67.	5/team			
Spring Show booths***	\$ 75	.00	\$1	25.00	\$	60.00	\$ 90.00
Harvest Festival booths***	\$ 75	.00	\$1	25.00	\$	60.00	\$ 90.00
Firework Show Booth - Outside		.00		90.00			
Firework Show Booth - Pavilion	\$ 75	.00	<mark>\$</mark> 1	12.50			
Citizens Appreciation Day Booth***	\$ 150	.00	\$2	225.00	\$	100.00	\$ 150.00
*** Non-profit booth fee		\$0		\$0			
Fishing Extravaganza		.00	\$	10.00			
Dive-in Movie		.00	\$	10.00			
Community Garage Sale		.00	\$	37.50			
Kids Night at the Park		.00	\$	22.50			
Cheerleading	\$ 65	.00	\$	97.50			
Summer T-Ball / Rookie Ball	\$ 70	.00		05.00			
Summer Coach Pitch		.00		12.50			
Fall Coach Pitch		.00		12.50			
Spring T-Ball / Rookie Ball		.00		05.00			
Fall T-Ball / Rookie Ball		.00	\$1	05.00			
	Set by Instruct						
	with 70/30		50% increase f	from			
Contract Instructor Classes	revenue split		resident fee				
Swimming Lessons		.00	\$	75.00			
Private Swim Lessons			\$	52.50	\$	25.00	\$ 37.50
Competitive Stroke Clinic		.00	\$	75.00			
Adaptive Aquatic Classes	\$ 65	.00	\$	97.50			
Pool Admissions 9 and under (WP)	\$ 1	.50	\$	2.50	\$	2.00	\$ 3.00
Pool Admissions 10 and over (WP)	\$ 2	.00	\$	3.00	\$	3.00	\$ 5.00
Swimming-Pool Passes (WP)	\$ 10	.00	\$	25.00			
Swimming-Pool Lane Rental	\$5	/ hr		\$10/ hr			
Swimming-Pool Lane Rental (non-profit)		/ hr	\$4.	.50 / hr			

American Red Cross Lifeguard Certification					
Class	\$ 150.00	\$ 225.00			
Lifeguard Re-Certification	75.00	112.50			
Facility Rental Fees as of 10/15/16					
Facility	Residents	Non-Residents	Deposit *		
League Park Gazebo	\$50 per 2 hr	\$100 per 2 hr	\$100		
League Park Plaza	\$50 per 2 hr	\$100 per 2 hr	\$100		
League Park Pavilion	\$25 per 2 hr	\$50 per 2 hour	\$50		
Helen's Garden	\$100 per 2 hr	\$200 per 2 hr	\$100		
Heritage Park	\$50 per 2 hr	\$100 per 2 hr	\$100	\$ 25.00 \$	50.00
Rustic Oaks Pavilion	\$25 per 2 hr	\$50 per 2 hour	\$50		
Ghirardi Park Pavilion	\$25 per 2 hr	\$50 per 2 hour	\$50		
Lynn Gripon Park at Countryside Pavilion*	\$25 per 2 hr	\$50 per 2 hour	\$100		
Lynn Gripon Park at Countryside Tables &	\$ 20.00	\$ 20.00			
Chairs					
Red Roof Pavilion*	\$25 per 2 hr	\$50 per 2 hour	\$100		
Green/Blue Pavilion*	\$25 per 2 hr	\$50 per 2 hour	\$100		
Walker Pool	\$75 / 2 hrs	\$150 / 2 hrs	\$ 100.00		
Lifeguards (2)	\$11 per hour	\$16.5 per hour		\$ 12.50 \$	12.50
LGP at CS Softball Field - Usage	\$8 per hour	\$16 per hour			
LGP at CS Softball Field - Lighs	\$12 per hour	\$24 per hour			
LGP at CS Youth Field - Usage	\$6 per hour	\$12 per hour			
LGP at CS Youth Field - Lights	\$8 per hour	\$16 per hour			
LGP at CS FB/Soccer Field - Usage	\$8 per hour	\$16 per hour			
LGP at CS FB/Soccer Field - Lights	\$12 per hour	\$24 per hour			
Pony/Colt Fields - Usage	\$8 per hour	\$16 per hour			
Pony/Colt Fields - Lights	\$12 per hour	\$24 per hour			
Little League Field - Usage	\$6 per hour	\$12 per hour			
Little League Field - Lights	\$8 per hour	\$16 per hour			
Coach Pitch & Dixie - Usage	\$4 per hour	\$8 per hour			
Coach Pitch & Dixie - Lights	\$6 per hour	\$12 per hour			
Girls Softball Field - Usage	\$6 per hour	\$12 per hour			
Girls Softball Field - Lights	\$8 per hour	\$16 per hour			
Volleyball - Usage	\$24 (6 courts)	\$48 per hour			

Volleyball - Lights	\$15 per hour	\$30 per hour					
Small Soccer Field - Usage	\$4 per hour	\$8 per hour					
Small Soccer Field - Lights	\$8 per hour	\$16 per hour					
Medium Soccer Field - Usage	\$6 per hour	\$12 per hour					
Medium Soccer Field - Lights	\$8 per hour	\$16 per hour					
Intl Soccer/Football - Usage	\$8 per hour	\$16 per hour					
Intl Soccer/Football - Lights	\$12 per hour	\$24 per hour					
Newport Park Rookie Field	\$4 per hour	\$8 per hour					
Rustic Oaks Rookie Field	\$4 per hour	\$8 per hour					
Rustic Oaks Soccer Field	\$8 per hour	\$16 per hour					
Lining the Fields (small soccer fields, lining and chalking baseball and softball fields) Lining the Fields (large / international soccer and football fields)	\$ 50.00 \$ 100.00	\$					
Fees are doubled for rentals for Commercial purposes, such as craft fairs, vendor fairs, or groups utilizing parks to generate revenues for profit.							
*Deposits and Fees will be applied to every increment of 200 people. Ex., if the stated deposit and rental is \$300, an event of 400 people would be assessed a \$600 deposit and rental fee.							
Sponsorship Fees as of 10/15/16							
Outfield Banner (6' x 4')	\$500/year plus sigr	n production fee					
Seasonal Brochure Full Page	\$1,000						
Seasonal Brochure 1/2 page horizontal	\$600						
Seasonal Brochure 1/2 page vertical	\$350						
Teamsidelines Website Link	\$125 / month						
Teamsidelines Website PDF	\$250 / month						